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QUESTION 1

Which two locations can Symantec DLP scan and perform Information Centric Encryption (ICE) actions on? (Choose
two.)

A. Exchange

B. Jiveon

C. File store

D. SharePoint

E. Confluence
Correct Answer: CD

Reference: https://www.symantec.com/content/dam/symantec/docs/data-sheets/information-centric-encryption-en.pdf

QUESTION 2

Why is it important for an administrator to utilize the grid scan feature?

A. To distribute the scan workload across multiple network discover servers
B. To distribute the scan workload across the cloud servers

C. To distribute the scan workload across multiple endpoint servers

D. To distribute the scan workload across multiple detection servers
Correct Answer: D

If you plan to use the grid scanning feature to distribute the scanning workload across multiple detection servers, retain
the default value (1)

QUESTION 3

An administrator is unable to log in to the Enforce management console as "sysadmin”. Symantec DLP is configured to
use Active Directory authentication. The administrator is a member of two roles: "sysadmin” and "remediator." How
should the administrator log in to the Enforce console with the "sysadmin” role?

A. sysadmin\username

B. sysadmin\username@domain

C. domain\username

D. username\sysadmin

Correct Answer: C
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QUESTION 4

Which two technologies should an organization utilize for integration with the Network Prevent products? (choose two.)
A. Network Tap

B. Network Firewall

C. Proxy Server

D. Mail Transfer Agent

E. Encryption Appliance

Correct Answer: CD

Reference: https://www.symantec.com/connect/articles/network-prevent

QUESTION 5

Why would an administrator set the Similarity Threshold to zero when testing and tuning a Vector Machine Learning
(VML) profile?

A. To capture the matches to the Positive set
B. To capture the matches to the Negative set
C. To see the false negatives only

D. To see the entire range of potential matches
Correct Answer: D

Reference: https://help.symantec.com/cs/dlp15.0/DLP/v45067125 v120691346/Adjusting-the-Similarity-
Threshold?locale=EN_US
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